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R oma | B TR et | B2 | wmer oo | B2 | oo T e e | B2 T e | T v
1 100kN/mM#Z#B% % -l -~ = -|3mZEEZE| - ~ = = -] 100kN/mMi%#8 % % = -~ = -[3m%Ei{BZ 3 = fad - - -
Zh s 1.00]0.00 ~ 463 57.75| #nList 10.00 ~ 0.00] 1.60 8.06 zh s 1.00] 5.00 ~ 5.03 57.75| #nList | 500 ~ 503| 1.60 8.06
9 100kN/m#%#BZ % -1 -~ = -I3mziEz% - ~ = = - 100kN/mM%#BZ % = -~ = —[3mZE{BZ 5 = o - - -
ZHLUS 1.00/0.00 ~ 7.28 92.79] #h st |0.00 ~ 7.28| 1.84 9.28 LS 1.00] 500 ~ 945 92.79] huist | 500 ~ 945| 1.84 9.28
3 100kN/m%Z#BZ % -1 -~ = -|3m#FE2B| - ~ = - -| 100kN/mM%# % % = -~ = —-[3mZEi#BZ3 -~ = = =
s 1.00{0.00 ~ 6.40 80.58| #nLi4t |0.00 ~ 640 1.85 9.34 Zh st 1.00] 5.00 ~ 7.71 80.58| £ List | 500 ~ 7.71| 1.85 9.34
4 100kN/m#%#BZ % -1 -~ = -I3mziEz% - ~ = = - 100kN/mM%#BZ % = -~ = —[3mZE{BZ 3 = o - - -
Zh st 1.00{0.00 ~ 7.75 99.55] #h L5t |0.00 ~ 7.75] 2.36 11.93 LS 1.00| 500 ~ 10.99 99.55| Zn st | 500 ~ 10.99| 2.36 11.93
5 100kN/mM%Z#BZ % -1 -~ = -|3m#FE2B| - ~ = - -| 100kN/mM%# % % = -~ = —-[3mZEi#BZ3 -~ = = =
s 1.00]0.00 ~ 6.16 77.27] £h st 1000 ~  6.16] 2.00 10.08 Zh st 1.00] 5.00 ~ 8.06 77.27] #h it | 500 ~ 8.06] 2.00 10.08
6 100kN/m#%#BZ % -1 -~ = -I3mziEz% - ~ = = - 100kN/mM%#BZ % = -~ = —[3mZE{BZ 5 = o - - -
ZHLUS 1.00/0.00 ~ 476 59.30] #hList |0.00 ~ 4.76| 2.06 10.42 LS 1.00| 500 ~ 6.07 59.30] #h L4t | 500 ~ 6.07| 2.06 10.42
7 100kN/m#%#BZ % -l -~ = -I3m%ziEzS - ~ = = —-| 100kN/mM%# % % = -~ = —-|3m%ZiHEAS -~ = = =
s 1.00{0.00 ~ 6.31 79.37| #h st 1000 ~  6.31| 1.96 9.88 Zh st 1.00f 5.00 ~ 8.08 79.37| #hList | 500 ~ 8.08| 1.96 9.88
8 100kN/mM#Z#EZ % -l -~ = -I3mziEz% - ~ = = —-|100kN/M%E#E 2z 5 = -~ = -|3m%E#BZ5 ad ~ - - -
ZnLs 1.00]0.00 ~ 4.09 51.18] ZnList 10.00 ~ 4.09| 241 12.19 ZhLs 1.00] 5.00 ~ 8.08 51.18] Zn iyt | 500 ~ 8.08| 241 12.19
9 100kN/m#%#BZ % -l -~ = -I3m%ziEzS - ~ = = —-| 100kN/mM%E# % % = -~ = -|3m%ZiHEAS -~ = = =
s 1.00{0.00 ~ 4.77 59.41] #h st 1000 ~ 477 2.29 11.56 Zh st 1.00f 5.00 ~ 8.10 59.41| ZhList | 500 ~ 8.10] 2.29 11.56
10 100kN/mM#Z#EZ % -l -~ = -I3mziEz% - ~ = = —-|100kN/M%E#E 2z 5 = -~ = -|3m%E#BZ5 ad ~ - - -
znLs 1.00]0.00 ~ 3.23 41.19] Zxl4t [0.00 ~ 3.23| 2.41 12.18 s 1.00] 5.00 ~ 6.11 41.19] Znlist | 5.00 ~ 6.11| 2.41 12.18
11 100kN/m#%#BZ % -l -~ = -I3m%ziEzS - ~ = = —-| 100kN/mM%E# % % = -~ = -|3m%ZiHEAS -~ = = =
s 1.00{0.00 ~ 458 57.15] #h 4t |0.00 ~ 458| 2.05 10.39 Zh st 1.00f 500 ~ 575 57.15| #hList | 500 ~ 575] 2.05 10.39
19 100kN/mM%Z#E% % -1 -~ = -I3mzi#E=z3| - ~ = = —-|100kN/M%E#EZ % = -~ = -|3m%EBZ5 o ~ - - -
s 1.00{0.00 ~ 744 95.06] 14t |0.00 ~ 7.44] 1.82 9.19 s 1.00] 5.00 ~ 9.76 95.06] 14 | 500 ~ 9.76] 1.82 9.19
13 100kN/m#%#BZ % -l -~ = -|3mEEZB| - ~ = = —-| 100kN/mM%#2 % % = -~ = —-|3m%iHBAS o ~ = = =
s 1.00{0.00 ~ 6.50 81.86] ZhList |0.00 ~ 6.50| 2.06 10.41 Lot 1.00f 5.00 ~ 9.33 81.86] ZhList | 5,00 ~ 9.33] 2.06 10.41
14 100kN/mM#Z#BZ.% 1.00{0.00 ~ 1.08 116.34|3m%E 25 ol ~ - = -] 100kN/mM%#BZ 5 1.00{10.85 ~ 14.15 116.34|3m%EE 25 = Rad - - -
s 1.00]1.08 ~ 8.87 100.00] ZH1List |0.00 ~ 8387| 2.32 11.71 Zh s 1.00] 5.00 ~ 10.85 100.00f Zh List | 500 ~ 14.15] 2.32 11.71
15 100kN/m#%#BZ % -l -~ = -|3mEEZB| - ~ = = —-| 100kN/mM%#2 % % = -~ = -|3m%iBAS o ~ = = =
s 1.00]0.00 ~ 6.23 78.22| £h st 1000 ~ 6.23] 2.02 10.19 Zh s 1.00] 5.00 ~ 8.37 78.22] Fnis | 500 ~ 837 2.02 10.19
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16 100kN/mM#Z#B% % -l -~ = -|3mZEEZE| - ~ = = -] 100kN/mMi%#8 % % = -~ = -[3m%Ei{BZ 3 = fad - - -
Zh s 1.00]0.00 ~ 5.36 66.90] ZnList |0.00 ~ 536| 2.08 10.52 zh s 1.00] 500 ~ 724 66.90| ZhList | 500 ~ 7.24] 2.08 10.52
17 100kN/m#%#BZ % -1 -~ = -I3mziEz% - ~ = = - 100kN/mM%#BZ % = -~ = —[3mZE{BZ 5 = o - - -
ZHLUS 1.00/0.00 ~ 505 62.92| #hList |0.00 ~ 0.00| 1.58 8.01 LS 1.00] 500 ~ 570 62.92| #hList | 500 ~ 570| 1.58 8.01
18 100kN/m%Z#BZ % -1 -~ = -|3m#FE2B| - ~ = - -| 100kN/mM%# % % = -~ = —-[3mZEi#BZ3 -~ = = =
s 1.00{0.00 ~ 5.90 73.89] £h st 1000 ~ 0.00] 1.70 8.58 Zh st 1.00] 5.00 ~ 6.70 73.89| #nList | 500 ~ 6.70] 1.70 8.58
19 100kN/m#%#BZ % -1 -~ = -I3mziEz% - ~ = = - 100kN/mM%#BZ % = -~ = —[3mZE{BZ 3 = o - - -
ZHLUS -l -~ = -| #hrist - ~ = = = LS = -~ = -| Zhust = ~ = = =
20 100kN/mM%Z#BZ % -1 -~ = -|3m#FE2B| - ~ = - -| 100kN/mM%# % % = -~ = —-[3mZEi#BZ3 -~ = = =
s - = Kt - -| Zh st = Kot - - - Zh st - = K - - Zh st = s - - -
91 100kN/m#%#BZ % -1 -~ = -I3mziEz% - ~ = = - 100kN/mM%#BZ % = -~ = —[3mZE{BZ 5 = o - - -
ZHLUS 1.00/0.00 ~ 6.20 77.80| #hbList [000 ~ 620 1.79 9.05 LS 1.00f 500 ~ 7.20 77.80] #hList | 500 ~ 7.20] 1.79 9.05
99 100kN/m#%#BZ % -l -~ = -I3m%ziEzS - ~ = = —-| 100kN/mM%# % % = -~ = —-|3m%ZiHEAS -~ = = =
s 1.00{0.00 ~ 551 68.79] #h 4t |0.00 ~ 0.00| 1.68 8.47 Zh st 1.00f 5.00 ~ 6.10 68.79| #hList | 500 ~ 6.10] 1.68 8.47
23 100kN/mM#Z#EZ % -l -~ = -I3mziEz% - ~ = = —-|100kN/M%E#E 2z 5 = -~ = -|3m%E#BZ5 ad ~ = = =
ZnLs 1.00{0.00 ~ 550 68.64] ZnList |0.00 ~ 0.00| 1.67 8.43 ZhLs 1.00] 5.00 ~ 6.10 68.64| Zn Ll | 500 ~ 6.10] 1.67 8.43
100kN/m#%#BZ % ~ ImEHBZ D ~ 100kN/m%#BZ % ~ ImEEZD ~
s ~ Zzh st ~ Zzh s ~ Zzh st ~
100kN/mM#Z#EZ % ~ ImEHBRD ~ 100kN/mM%Z#8Z % ~ ImEEZD ~
ZHUS ~ Zh LS ~ Lot ~ ZHLS ~
100kN/m#%#BZ % ~ ImEHBZ D ~ 100kN/m%#BZ % ~ ImEEZD ~
s ~ Zzh st ~ Zzh st ~ Zh st ~
100kN/mM%Z#E% % ~ ImEHBZD ~ 100kN/m%Z#8Z % ~ ImEEZDB ~
ZH LS ~ Zh Lo ~ Lot ~ ZhLS ~
100kN/m#%#BZ % ~ ImEFEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
ZHLS ~ ZThLLst ~ ZThLlst ~ FHLS ~
100kN/mM%Z#E% % ~ ImEHBZD ~ 100kN/m%Z#8Z % ~ ImEEZDB ~
ZH S ~ LS ~ Lt ~ LS ~
100kN/m#%#BZ % ~ ImEFEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
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